

## Schutz 8.12

$$h_{\alpha\beta} \rightarrow h_{\alpha\beta}^{(new)} = h_{\alpha\beta} - \xi_{\alpha,\beta} - \xi_{\beta,\alpha}$$

$$\overline{h_{\alpha\beta}}^{(new)} = h_{\alpha\beta}^{(new)} - \frac{1}{2} \eta_{\alpha\beta} h^{(new)}$$

$$= h_{\alpha\beta} - \xi_{\alpha,\beta} - \xi_{\beta,\alpha} - \frac{1}{2} \eta_{\alpha\beta} [h^{\mu\nu} - 2 \xi^{\mu\nu}]$$

$$= h_{\alpha\beta} - \frac{1}{2} \eta_{\alpha\beta} h^{\mu\nu} - \xi_{\alpha,\beta} - \xi_{\beta,\alpha} + \eta_{\alpha\beta} \xi^{\mu\nu}$$

$$= \boxed{h_{\alpha\beta} - \xi_{\alpha,\beta} - \xi_{\beta,\alpha} + \eta_{\alpha\beta} \xi^{\mu\nu}}$$

~~Davidson~~ Chey

7-4-2024